
1 OF 1

I.S.-970393 seat spring kit 

4164704 REV A

09-2009

INTRODUCTION:  This instruction sheet covers the installation of the seat spring kit 970393.

1.  	 Tip seat plate forward and out of way.

2.  	 Locate and drill (4) 9/32" holes as shown in Figure 1.  

3.	 Attach spring brackets 1, using 1/4" bolts 5, and 1/4" 
nuts 6, as shown in Figure 1.  It may be necessary to 
remove rear guard in order to tighten nut 6.

4	 Assemble springs 2 to spring brackets 1 using 3/8" 
bolts 3, and 3/8" nuts 4 as shown in Figure 1.  

5.	 Reinstall rear guard if removed.

6.	 Replace seat plate to operating position.

1	 4164330.7	 BRKT-SPRING MOUNTING 	          2
2	 4164569	 SPRING-SEAT	          2
3	 64262-011	 BLT-FLG HD 3/8-16 X 1	          2
4	 64229-03	 NUT-NYLON LOCK 3/8-16	          2
5	 64262-003	 BLT-FLG HD 1/4-20 X 1	          4
6	 64229-01	 NUT-NYLON LOCK 1/4-20	          4

ITEM	PART  NO.	 DESCRIPTION		       QTY
SERVICE PARTS LIST

FIGURE 1


